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The ﬁgures in the margin. mdlcate full marks |
for the questions.

* Answer either in ‘English or in Assamese.
TRG! W) e Tew IR

| 1. Choose the correct answer from the following |

questions : - ' - Ix7=7

WWW%‘QMQ@WZI°

(a) The graph by which we can locate various

partltlon valués is known as:

:ﬁ?«mwﬁﬁ%aﬁmmaﬁ‘ﬁ .'

A C <
(D Hlstogram :
(ii) Frequency curve

@
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'(iii) Cumulative .frequency'f'curve
. AEH aﬁ@ﬁwt ey
(1v) Frequency Polygon
T I[RIREL W‘i@?
(b) 'I’he formula' for seml-mterquartnle range is
e e W RN m z&
O 3@ - Q @ L, - Q)

-(iii)'—(Q, " @ 7@ -Q)

(c) Standard deviation is the minimum value of

e Ro 2o .amm” |

@) Mean square deviation |
ofe 3 Room ‘
. (ii) Root mean square deviation - - |
FToag A Reomw l
. (iii) Variance ' ‘
S 31 ﬁw

(iv) Co-efficient of vanatlon
Rt e A et
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(d) Which of the following statement (s) is/are |
true ?
wee WAl casmm/@ﬁmfz‘m Rt og ¢

‘1. The series having lesser c.v. is said to
be more- consistent than the other.

@At GOt TR R o =«
NeE & TE IS i Ro=e
Loficliva e RSl .

IL. The series having lesser c.v. is said to be
less consistent than the other.

@G B T R QS W Bt
Efiele 7% TE GRGN @I Kot
el INOLE I TR

II. The series having greater c.v. is said to
be more consistent than the other.

I @B TR REIR O A B
ETF TR TE GG @TR R
TG e I ¥A| : -

IV. The series having greater c.v. is said to
be less consistent than the other.

A B TR R @ w .
ETSF TR A GRSl T Row
S et &R =91
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~(¢) The co-efficient of Kurtosis is given by
| TIOR3

- (£) The strength of 7 colleges in a city are 385

maw.wmﬂ?aiﬁmmwwmm ?
385, 1748 1343, 1935, 78, 2874 @i/ 2108

T WR TR Y |
L 1935
(D) 1748~ . (y) 786

(g) The condition for ihc consistenéy of a set-of
independent class frequency is that no
ultimate class frequency js '

Bt T o I S e
R A Q@I SR ey
() Zero D)

(if) Positive (sres)
- (iii) Lies between ( and |

0 % 13 ers

(iv) Negative, (i) |
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2. Answer the following questions briefly : 2x4=g

(@) Form an ordinary frequency -table from the
following data : g

AT B -

SiFe ofge It 2
Daily wage ~ No. of workers -
iR TR BT
Below Rs. 100 . 150
100531 oovs .
Below Rs. 200 - 280

. 200 B3R were -
Below Rs.300 _ " 400

- 300 B3I ‘oere B

(b) Mention four ‘requisiti'es‘ of an ideal measure
of ‘central tendency. , S
el @ 2RA AR o IR N

. () Write. down four demerits of median, |

TGAR SR wBY R Bty ‘

(d) Give one éxmpple where two variables  are

~ uncorrelated but not independent, ,

TRATE QUF W e vors W g
TRA— o1 Tt ot s
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3. Answer any three questions from the following :
" 5x3=15

(a) Prove that — 1< r (x,y) <l,”

where- r(x, y) is the correlatlon coefficient

between x and y.
g FM—1<r (%, y) <1

(%, y) X X W y I oI ASTIE O |

(b) Draw the 'histogram_ and 'freqﬁency_ curve
from the following frequency table :
woT fiEl TR R SRR *Rl TeE
i Wﬁ@ q T G R W%
Age (in years) No. of students
W @RS 'R R
2-5
5-11
112
12-14
14-15
15-16

W = W N O
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(0) Calculate Mean and Standard deviation from
.. the following frequency table :

w%mﬁwmww
mmwamtﬁaﬁwﬁﬁ 418

-Age (in years) - No. of students

@) wE WD
20-30 - 3
3040 61
a0-50 132
s0-60 153
6070 ° 140
70-80 . . 51
8090 2

(d) Prove that, the nth order d1v1ded dlfference
-of a polynomlal of nth degree is constant.

ztsnctw m,nwm«mnwﬁm%@
waﬁml

(e)° Write a note on association between two
attributes A and B. -

AWBM@NWW@W@W_
fan
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4. Answer

@ )

any three questions from th§ following :
| S 110x3=30

If u_is a polynomial of second degree

~in x, then find the value of j:uxdx in
' terms of u, u,u, - 3

(ii)

IR u, <6t xf%'ais R ) ta,' ST L’u’,dxa
T U, U, 0T Refaw

Ifp, g, rand s be the successive_ entries

.. corresponding to equidistant arguments

in a difference table, show that whep
third difference are takep into account,

. the entry corresponding to the arguments

halfway between the arguments of q and

. . . 1
ris A+ EB Where A is the arithmetic

mean of q and r and B is the arithmetic

- - mean of 39-2p-s and 3r-2s-p.

wﬁa’ﬁwﬂﬁﬁa@ﬁawqﬁ
WW’fWWp,q,rW
S W R ryent TS R0
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Wﬁﬁﬂﬁﬁﬁq%r?ﬂw
f.rga,‘zrs A:‘aqmasﬁwwmm

Bq‘a3q—2p—sm3r—2sv-paw
Tqieg | o

Write down the general quadrature formua
and then obtain Simpson’s 3/8th rule. Also
obtain the value of log, 7 using the same,

' ' - 1464+3=10

‘wim-m? R B Bt s org
: ﬂarﬁ'nvrmayswﬁam@%wnm-

(©)

T TRR R log, 73 W ey =1

Define “correlation between two .variables,
Also discuss its different types with examples,
Prove that correlation coefficient is indepen- '
dent of change of origin and scale,

S 2+3+5=19

001 SRR e TR R 0T 211 B

. -SPITR CHIRTTR W=t 311 | ATl 7y @,
. mamﬁﬁﬁwm«gﬁﬂﬁa@a
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(e) Denve the regressmn line of Y on X and X
- on Y using principle of least square. Why two
regression lines are used ? Also mention any

(d) (i). How do you determine mode of a
grouped frequency distribution- graphl-

cally 27 3 two propertles of regression co-efficient.
‘mﬁﬁ@f@swwmwﬁs 0 . - TH142=10
R e eR@ e | TR 1 BT (YR oS X W% X9 €oRS

Y) TSR 3o PR o wpiR R 3 o
(ii) Draw the Oglves for the followmg data | - T @A R g I/ D ¢ ST
-set  6+1=T . wmﬁwm@‘msﬁﬁmw«n
: WWWWWWW"

. -~ (® (@) Show that o -5
" Marks No. of students - oeT @3 5
] S B Rt |
. | N pr = pr - I ].lr,lp,l+ AT 2;,1, + et
0-10 - S | e
10-20 .8 .
' L (n) What is Sheppard’s correction -for mo-
20-30 B ".ments ? What are the corrections gorsthse
, | ‘ ” o f
30-40 15 : : . first four moments ?

S . | csvm‘a'q‘ﬁwmaamﬁ?mm<
40-50 . 12 | «q«fwm«ﬁﬁe | '
50- 60 | 8 |

!
60 - 70 . B 3

_Hence obtam the median value
TR R e Bl
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